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Read the following instructions carefully before you begin to answer the questions

7.

10.

11.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the
examination.

This Question Booklet contains 100 questions.

Before answering the questions, you .shall check whether all the questions are printed serially and
ensure that there are no blank pages in the question booklet. If any defectis noticed in the question
booklet, it shall be reported to the invigilator within the first 10 minutes. and get it- replaced with
a complete question booklet. If the defect is reported after the commencement of the examination,
it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided
in the answer sheet and in the mem”oranduin of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to
select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer
sheet. If you feel that there are more than one 90rrect answer, shade the one which you consider
the best. If you do not know the answer, you have to mandatorily shade (E). In any case, choose
ONLY ONE answer for each question. If you shade more than one answer for a question, it will be
treated as a wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this Question Booklet.You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Room during the time of
examination. After the examination. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

You should not make any marking in the question booklet except in the sheets before the last page
of the question booklet, which can be used for rough work. This should be strictly adhered to.
Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.
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Test - 6 - GENERAL STUDIES

llerrgser  : 100 Quwrss wHuCuevsst : 150
Questions : 100 Total Marks : 150

1. Consider the following incorrect statements
Spssam_aupner seuprenr Fmpenpy CHIH6SE0
1.The Indian GST model was based on Canada
@idwureiler Neruppliu@Gd sré@ wHmL Csmes aufl sear_mrenes Gumermg)
2.GST council is a statutory body
&r&© wHnw Csemeu eaufl Y enamud FUL LTI enLOLIL]
3.The voting percentage of the central governmentis higher than state government
in the GST council
&r&6© wHnw Csmeu Y marwsde wWHHU Yrfler aunsEE sz6ldlsb wrHe
rflen auns@ spaissms N HHsLd
(A) Anyone
gCaaId ey
(B) Any two
gCaad Qreamh
(C) All are correct
GG &ifl
(D) All are incorrect
SMASFID S
(E) Answer not Known
cenL Qg flweilcrenc

2. Which of the statements given above is/are correct?
Qaerhs&suulL smpmseiled erg sflureng/sflwurerg?
1. Priority Sector lending started with the establishment of the Banking System in
India
@rndwurele cumdl enwiiy HmeuliulL a6 (peraflennsd genm HLen
UPBIGH® CsT_riSwg).
2.Priority Sector lending is mainly aimed to give adequate assistance to those

sectors which contributed a significant proportion of the national product.
weraflennsd genm Lo aPBGHD WsHwwrs Csflw 2 pusSHuiea
seaflerer umsefllenu eaupmdlu gonsEnrs@ Curgwrar 2 gellenw
aprigams Crréswnss Osrar@herers).

(A) OnlyI
@erm L (hb

(B) OnlyII
@rewr@ WL (HLWD

(C) BothIandII
@eny LHYL Gream

(D) Neither InorII
QrarGhd seum

(E) Answer not Known

cenL Qg flweilcrenc
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3. According to growth rate which 5 year plan where did not attend the target

aarfdsl lflgsHen liumLuler Qosms oLWTS mHsTarh S mis6r
CTen G

1.First five year plan
s gHsrar® &b
2.Second five year plan
@QuerLmbd ghsreamw® HLL LD
3.Third five year plan
epeTpTd P Ppewd Sib
4.Fourth five year plan
Bn&TD ®hg Perh SHLLb
(A) Any one
gCs@d e
(B) Any two
gCaad Qe
(C) All are correct
Smeansgd &ifl
(D) All are incorrect
SMASFID Sy
(E) Answer not Known
denL Qg flwellcrene

4. The prices at which the government purchases food grains for maintaining the public
distribution system and for building up buffer-stock is known as:
Qurg eNHCwins wpenpenwt LFrwfLiLgHE WD QenL W s LIEIG S er 2 (heul S G 6usSH G Ld
STEMRISD 2 awrey Fraflwrisemer cumEIGL ellencser LS6me LM
(A) Minimum support prices
GODHSLULE ,5T6] 6leneser
(B) Procurement prices
Qamerpged allencvser
(C) Issue prices
QeuallliL_ () eSlenevsar
(D) Ceiling prices
2 FFaudL eleneser
(E) Answer not Known

allenL Qg flwellcvenc
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5. Consider the following correct statement
Copsar_eaupmner sfluren Qzr_eny CsiH05E0
1. Fiscal policy is formulated by reserve Bank of India
R Qararens @pHw fefeu aumifurd CopbsreareriiLB®Sng
2.Monetary policy is formulated by ministry of finance
vewr Qametens wHHW HI emwésssgrw CuoplasmearerliL@ S ns
3.Both fiscal policy and monetary policy is formulated by reserve Bank of India
& Qasrarens wHmD UaTsCaTaTens QreavhHib Q@BHw flefeu eumSlwmed
CuplsrereriiLiG & m g
(A) 1only
1 wL@EW
(B) 2 and 3 only
2 wHmd 3 WL EHW
(C) 1and 3 only
1 womb 2 w W
(D) None of the above
Copasear_ ergiab Qdame
(E) Answer not Known

dllenL Qg flwellcvenc

6. Which of the following committee is not related to poverty estimation
amen Sarsas®ly Qsrjurer Spsar. Guwsseald g Seuprearg
(A) Tendulkar committee
QLear@osi & (W
(B) Rangarajan committee
TRIGTTR6 G
(C) Alagh committee
SDE GW
(D) TSR Subramaniam committee
g eTe < F SUGFweflwb &w
(E) Answer not Known

cenL Qg flweilcrenc
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7. Fiscal responsibility and budget management act enacted in the year of
BE Qurmiiiy wHmbd LLCLL Coerarenw FULWD dhs Par®d QuidnlulL g
(A) 2000
(B) 2003
(C) 2007
(D) 2014
(E) Answer not Known

cenL Qg flweilcrenc

8. How many pairs are incorrectly matched

seupns QUMb u|erer ) enewrs 6T

1.AGMARK - food products
&LITS 2 awreyLl GlLim (6T & 6
2.BIS HALLMARK - gold jewellery
9 @ eTev aDTOLOMFS SEIG < LIIT 6T A& 6
3.ECOMARK - agricultural products
a&CaMT IFE Couermar Quim(pL& 6T
4.FPO MARK - consumer goods
el 9 @ IF& B&FCeury CLim(mers e
(A) Anyone
gCsaId @eny)
(B) Any two

FCaaid Qren(
(C) Any three
gCaad epenm
(D) All the pairs are incorrectly method
SmeanSgd Seupns QUTHHS 2 eTeng)
(E) Answer not Known

cenL Qg flweilcrenc
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9. Dream of Tamilnadu : our vision into transform Tamilnadu into a trillion dollar

economy without affecting the
sblpssdlenr sarey sUORssms Lfodlwer Lreof Qurmerrsryb &6 wrhneuCs
CTRIGET LUMfenel Jeneal Qeupeny LUTEHESTOGD
(A) Happiness and the social problem of the people
wEP&ES wHML wEseaflen Feps KNyFseanen
(B) Happiness environment and livelihood of the people
LELPFS FHMESHPO® LHMILD WESefemr euTPEITSHTFLD
(C) Happiness and the poverty of the people
wéseflenr WHHES LHMID eumend
(D) Happiness and cyber crime of the people
wéseflenr WHAPEFS wLHMID wESeflenr Qenewr @mhmme & e
(E) Answer not Known

alenL Q5 flwellcrenc

10. Correctly matched pairs
sflursl QurmbHujerer &) enemrs e
1. State with lowest population- arunachal Pradesh
&S CHTens Genpeunen MHlWL -Hawrdse LKNFGs s
2. State with lowest population density-sikkim
w&Es6ar CsTens YL F55 Gempeuner wrheow -&&&bd
3.State with lowest sex ratio- Punjab
urellen elflsd Gevpeurer wRHleL -LiEhFTL
4.State with highest population density- kerala
w&Esear Csrens YLF5H dsbd o drer wrhow- Csyerm
(A) Anyone
gCsaIb @6y
(B) Any two
FCaaid Qren(
(C) All pairs are correctly matched
Smeansgid sflurs CQurmbS o ereren
(D) All pairs are incorrectly matched
SmeanSgId saupns CUTmHSH 2 eTeren
(E) Answer not Known

cenL Q5 flweilcrenc
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11. India signed the Dunkel proposal in

@pdwur liGurg LEisd HLsHd ansCupsHLg?

(A) 1984
(B) 1976
(C) 1950
(D) 1994
(E) Answer not Known

dlenL Qg flwellcenc

12. Which revolution was born in India paving way for self sufficiency in food grain

production.

@idwunele Caremdlwugned o2 eamre] Sreaflw

UGS5SI-

(A) Blue Revolution
Beoolt yrld

(B) White Revolution
Qeudtemers Lyl &

(C) Green Revolution
us&enwll Yrld

(D) Grey Revolution
Fmbue® Yrlé

(E) Answer not Known
denL Qg flwellcene

2 pusHuler semalenme Gum euf

13. Which of the following is a cause of demand-pull inflation?

Neraumeuameaupmler erg Coemeu-Q&@L LaeisEs55DE@ smrewrd?

(A) Increase in cost of production
2 HuGHE CFwe] sl
(B) Decrease in consumer demand
B&FCauny GCoeneu Genmsed
(C) Increase in money supply
vewr aNHCwrsSHed sy
(D) Government regulation
SITEMES 6 (LPHIGPEND
(E) Answer not Known

allenL Qg flwellcvenc
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14. Sustainable Development Goals and targets are to be achieved by -------
By euearfifl (owg) eamBiGarnr euafFfls GHsCandardmer  HenLw
MASSLLL I (HEGLD STELD
(A) 2020
(B) 2025
(C) 2030
(D) 2050
(E) Answer not Known
adenL Qs flweilcrenc

15. Which scheme aims to empower rural women by organizing them into self-help
groups (SHGs) and promoting livelihood opportunities?
Sprolypll Queansener swe el Gssearns (SHGS) enwliugen epepLbd,
aurpeurgny aumilysener GobUBSFusen paIpb Seufsamer CobUBSF M
Cpréswness GsmarL S LD erg?
(A) Pradhan Mantri Gram Sadak Yojana (PMGSY)
Wrgrer whHfl Hrmwd 565 Curgerr (PMGSY)
(B) National Rural Livelihood Mission (NRLM)
Csflw Apmolyp erpersry Quasn (NRLM)
(C) Swachh Bharat Abhiyan
eveuE UMTS Slwimenr
(D) Pradhan Mantri Awas Yojana - Gramin (PMAY-G)
Wrsrenr wHSHA o eurev Cumrgerr - Symblewr (PMAY-G)
(E) Answer not Known
denL Qg flwellcvene

16. Which of the following is true about the functions performed by RBI
Nereueuemeupdled flefeu cumidlullen Cswour@saficr erg o emenio
1.It acts as banker to the Government
85 remhssdne camdwurarrs CFwuoLBSHDs
2.Itis the banker of other banks
Qg wHny curifseflenr eumwmrery
3.1t regulates the flow of credit
Qs sLen gLLSDS @UEELOS54EDS
(A) All the statements are correct
Smeans g NsenaEsEpLd Fflwmreareneu
(B) All the statements are incorrect
SmeanS5g HNEMESEHLD F6uDTETen6
(C) Only two statements are correct
Qranh Msamssear LLECL Fflwurarena
(D) Only one statement is correct
@Cr @@ sFpn wLLECL sflurearg
(E) Answer not Known
alenL Q5 flweilcrenc
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17. India’s free trade agreement is not signed with
QrHunr #5685 wisss @UUBSSME aThy BTLHLer amatwwsH aldeama?
(A) Japan
SoLILIm 6o
(B) Saudi Arabia
soydl Crilwm
(C) South korea
Qgerr Qamflum

(D) Singapore
SAms Ly

(E) Answer not Known
cdenL Qs flweilcrenc

18. When the cash reserve ratio (CRR) is increased by the RBI, it will:
flefeu aumflured Qrrés emsulmly Nfssams (CRR) fasflsgwCung, i

(A) Increase the supply of money in the economy
Qummernrsrrg e Uewr aNfCLTssens iSH&fés a0

(B) Decrease the supply of money in the economy
Qumrmerngryddler vemr ANFHCLTEHMS GNMEHa LD

(C) Noimpact on the supply of money in the economy
Qummernrgryg e uewr aNflCwnsgde arHgy UTSHlLD Qo

(D) Initially increase the supply but later on decrease automatically
< rougded AfCurssms flsflssan gy eamd beareary sreammsGou
GepuLd

(E) Answer not Known
cenL Qgflweilcrenc

19. Which among the following activities are not permitted to payments banks?
Wereu@d  Qesweurpsefles erg uemd Oeysgb(payment) eaumdlsEnss
@&l elleenc?

(A) Remittance services
Uewrd el GCFeneuser
(B) Issuing ATM cards
JIigeTD STFHSEMET GULPMIG S
(C) Issuing credit cards
SLGT LML SENET GULOMEIG S 6
(D) Accepting demand deposits
Carflgens emeulisener gHm&amereg)
(E) Answer not Known

cenL Qg flweilcrenc
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20. Consider the following correct statements

Spsaar_eupmer sflurer QFrLi
1. Minimum support price is announced by niti ayog
GODHHULE Y sT6e) elened HH o Cwrs enwiured GeaueaflullLL@&Dg
2.Minimum support price is announced the only for food crops
GODHSLULE Y eTe] lene eTerug amejl LWNIFsErsE WL HGW
Qlum b gD
(A) 1only
1 L@
(B) 2 only
2 bl @b
(C) Both1land2
1 womwb 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
denL Qg flwellcvene

21. Consider The Following Correct Statements:
Yereummbd Fflwrer Ggmi
1.The Human Development Report Of Tamil Nadu 2017,Is Released By State
Planning Board.
sWOPETH waly aearf&dl HyMaans 2017, wrhle HL&GwWeured
Qaeueflul_ g
2.Virdhunagar Attained First Place In this Human Development Report.
Qps wally euafsdl Msmauties lmEHBST WSS CQUOHDF.
(A) Both1land2
1 wHmw 2
(B) 1only
1 L EGW
(C) 2only
2 bLEGW
(D) Neither 1nor 2
Copaear_ ergiab Qdame
(E) Answer not Known

allenL Qg flwellcenc
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22. Consider the following correct statements

23.

Spsaar_eaupner sflwuner gpenp Cs7HOSE0
1. Government of India declared its first industrial policy on 1948
Qrdu s sarg s CAsmhed Qsrarensamw 1948 b oy e
2iflail55 5l
2.Government of India declared its new economic policy which includes
liberalisation privatisation globalisation declared on 1991
Qrdwu rs 1991 b gy arl STETETLWLIESHM SaflWMFowLrEsS® WwHmD
2 &LWLNES® Y Sluupan deasdlu sarg HIw Qzmpd Gsmerensemnw
Sifleil553)
(A) 10nly
@erm WL (b
(B) 2 Only
@rewr@ WL (HLWD
(C) Both1and2
ey wHmd @y
(D) None of the above
CopsearL ergajb Qaoeme
(E) Answer not Known

denL Qg flwellcvene

Which of the following source is largest state own tax revenue of Tamil Nadu
government
Epssam_cupde erg sOPHTEH rdfer Qamhg ufl aumeaurl g sTrdHe yHawrs
2 6Terg)
(A) Stamps and registration
wéHemrsgner wHmbd Lley
(B) Excise
&GOITGEY
(C) Motor vehicles
CILLIF 6uTs 6rmki& 6T
(D) None of the above
Copasear_ ergiab Qdame
(E) Answer not Known

alenL Q5 flweilcrenc

GS06-060624 10 www.mntfreeias.com
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24. National multidimensional powerty index is released by

25.

26.

Czflw ue uflore aupenw GHG wrrred Qeuaflull LG HDF
(A) Niti aayog

B <o, Curs
(B) Reserve Bank of India

@rHwu flefeu eumd

(C) Ministry of finance
arflu HH emwessbd

(D) Prime minister office
Nrswi eeusLd

(E) Answer not Known
cdenL Qs flweilcrenc

Dedicated freight corridors is related to
fliueflgsiiulL Fr&@ auflssLd HlLd agen QT wg)
(A) Waterways
Breuflls Curé@eaursg
(B) Airways
aneralflll CuUrs@eurss)
(C) Roadways
stenelICUTSG TS gl
(D) Railways
gulleo CurE@eurss
(E) Answer not Known
denL Qg flwellcvene

Which one of the following is the custodian of the Foreign Exchange Reserve of the
Indian Government?
Weraumeuameupileds QpHw  remhssdear HypHlu  Ceoreueal  eauldlmLSer
UTGISTeUeF wmy?
(A) Security Exchange Board of India
@idw urgsriy ufleufssener eumfluibd
(B) Insurance Regulatory Development Authority
sSTUI0 @WrEGwamn Coburl@ <y amemrwb
(C) Reserve Bank of India
QrHwu flejeu curid
(D) Parliament
LI T [ T (@TF LD 657 ) LD
(E) Answer not Known

cenL Qg flweilcrenc
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27. The type of Income Tax levied on the gains after sale of investment or property is
called as:
WasSH dag OCFrsems opn KnE HoLseb orusdear 5g oNHassLLELWL
cuorer eulfl cuens:
(A) Capital Gains Tax
(pOSET 9 ST 6uifl
(B) Securities Transaction Tax
uBEg uflaufdsemen aulfl
(C) Sales Tax
apueney euifl
(D) Wealth Tax
Qsoveu eufl

(E) Answer not Known
dlenL Qg flwellcene

28. Which one of the following sectorsis notincluded in the Eight Core Sector industries?
Mereu@pd gGemmsafler erg Tl WwsHw genps GCsmhosaiice CsrssliLLalldeme?
(A) Natural Gas

Qupens erfleumy
(B) Refinery Products
agdafliy gwurfllysen
(C) Fertiliser
2 [
(D) Defence
LTSS TLIL
(E) Answer not Known
dlenL Qg flwelilcene

29. In the context of independent India’s economy, which one of the following was the
earliest event to take place?
&3hHr QpdHwureler OQummerngrrsHen Nememenflufich, Nereueuameupdlcd erg)
27U Asparns @@H5sl?
(A) Nationalization of Insurance companies
st (h fpeueatseaiens CsAwwwiorsse
(B) Nationalization of State Bank of India
umyg vGLL cumdl GCaHwwiomssed
(C) Enactment of Banking Regulation Act
and UBRGUWDE FLLSMS QuDNHo
(D) Introduction of First Five-Year Plan
oo ghsrar®s SLsdenr Siblpsd
(E) Answer not Known

denL Qg flwellcrenc
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30. Who was the Prime Minister of India when Banking Nationalization was done in

1969?

19696 eaumidfl CsAwwwwrsstiulL Curgy @bHwureler Nrzwrrs QEmbHeuF wry?
(A) Jawahar Lal Nehru
seuanjerd G
(B) Indira Gandhi
@pSrn snpd
(C) Rajiv Gandhi
Trgel SHé
(D) Narsimha Rao
BrbL Frel
(E) Answer not Known

denL Qg flwellcrene

31. Consider the following correct statement
Spsaar_eupmer sflurer QFrLi
1.Tamil Nadu is the only state in India adopted the universal public distribution
system (UPDS)
@rdwurelc, sOPHTd LLHGCL maraums@wrear Curg «NHCwrss
L penL(penpuiled 2 ereng)
2.National food security act covers the 75% in urban areas and 50% in rural areas
Caflu 2 amey unrgariy siLgdenr S 75% paFuypb wHmbd 50 Fseisbd
Sprolypd L miSluererg
(A) only
1 LLED
(B) 2 only
2 wL(HW
(C) BothIand2
1 wHmb 2
(D) Neither I nor 2
rglajb Qoeme
(E) Answer not Known

alenL Q5 flwellcrenc
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32. How do you term people employed in excess over and above the requirements?
Camaus@ Hswrs Ceaumauier FHUBL waseler Hanaweanlo
(A) Unemployment
CoueneuileiroenLo
(B) Underemployment or Disguised Unemployment
wenpws Geaueneuieroenlo
(C) Full employment
P wCauenae
(D) Self-employment
W Geuen e
(E) Answer not Known

adenL Qs flweilcrenc

33. The primary factors of production are:
wsemend 2. MHUSSHE &nyenflsermelen
(A) Labour and Organisation
2 el wHmb CFmbleenoLiL
(B) Labour and Capital
2 enPLIL| WHMID PGS EILD
(C) Land and Capital
Heow wHmILd epegerd
(D) Land and Labour.
Heod wHmd 2 empLiL]
(E) Answer not Known

denL Qg flwellcrenc

34. ‘Pradhan Mantri Jan-Dhan Yojana’ has been launched for
rgmen wHHf ger-ger Curgern agnans QFTLESILULL g

(A) Providing housing loan to poor people at cheaper interest rates
TP WWESHEHEG GMPHS Ul lpuled S OSSN CULPEIGSH®

(B) Promoting women’s Self-Help Groups in backward areas
Nergmdw ugdseie waellf swe ol Gssamer oméa@ellsse

(C) Promoting financial inclusion in the country
Brliged [ e dagheng oad@ellssa

(D) Providing financial help to the marginalized communities
@R§GESULLL. FpsEISEHEE HH 2561 aupm@se

(E) Answer not Known

denL Qg flwellcene
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35. Ryotwari system was initially introduced in

Qruseeunfl Wwaearwzdled HMWPSLUUGSSLULL QL LD

(A) Kerala
Garerm
(B) Bengal
GURBISTEITLD
(C) Tamil Nadu
I L{C)
(D) Maharastra
LOSTFTEVIg [T
(E) Answer not Known

dlenL Qg flwellcene

36. With which of the following is SARFAESI Act 2002 related?

SARFAESI sL1b 2002 Neweumeuameupier erseen GQHrfLenLuwig?

(A) Recovery of bad loans
Curswrer sLensaflenr LBLLY
(B) Regulation of Foreign Exchange
SbHw GQsmreueni RGN
(C) Fixation of interest rates
ally eflgmsener [Hlijewruilss e
(D) Acquisition of small banks
Aflw auiflsaner ensWSLILGHS I S0
(E) Answer not Known

enL Qg flwellcene

GS06-060624 15
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37. Which scheme focuses on improving the rural infrastructure by constructing roads,

bridges, and public buildings in Tamil Nadu?
SWOIPHT g6 FTMSHET, LTOBIGE WLHMWD QuUTg Syl Bsda S (Hleugem (peLd
Spmwolym 2easlLemwleau Cubu@sgeauded saeabd CFgss b SHLb erg?
(A) Pradhan Mantri Awas Yojana - Gramin (PMAY-G)
Krgmen wHHfl g eurev Curgenr - Symbler (PMAY-G)
(B) Tamil Nadu Rural Development and Panchayat Raj Department Infrastructure
Scheme
SWOPETH 2orrs euerfFsl LHMID LEETWSH Ty SGenpuller 2 6rEL L enLiL|
SLL1b
(C) Pradhan Mantri Gram Sadak Yojana (PMGSY)
Yrgsrenr wHHF Apmd & Gurgerr (PMGSY)
(D) Tamil Nadu Road Development Scheme
sWOIPBTH Frene CobUTLHS HL b
(E) Answer not Known

ddlenL Qg flwellcrenc

38. Consider the following correct statements
Spsasar_aupmer Fflwurer QFrLiy
1. Aspirational district program is implemented by niti aayog
pearGarm eleneujd wreuLLmser S B < Cwrs enwlume
Cewou@ssiub fng
2.Virudhunagar and Dharmapuri districts in Tamilnadu are selected for the
programme
SOIPBTL g 2 6ter aNHHBHST LHMWL STwLF wreulLkisda Q@FSLGHenr &
Carnbsm&sL1LL (Hererer
(A) 1only
1 wLLEW
(B) 2 only
2 L HW
(C) Both1and2
1 wHmw 2
(D) None of the above
Copaear_ ergiab Qdame
(E) Answer not Known

allenL Qg flwellcenc
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39. What are identified as causes of black money?

SMLUL UaTSSHDSTen STIEBIEET erew S PuliLlL HenLWTETD 6Teneu?

(A) Shortage of goods

UewL_Bisefler LHDTSGemD

(B) High tax rate
fa aufl Nz

(C) Smuggling
&5

(D) All of above

Cuonsadlu enearsg)Ld

(E) Answer not Known

dlenL Qg flwellcene

40. Foreign investment includes

QeueliBT® WHS® 2 cTeTLSSluwig.

(A) FDIonly

FDI w @
(B) FPIand FFI

FPI wpm FFI
(C) FDIand FPI

FDI wpmwn FPI
(D) FDI and FFI

FDI wpmw FFI
(E) Answer not Known

enL Qg flwellcene

GS06-060624
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41. With reference to ‘Pradhan Mantri Fasal Bima Yojana’, consider the following
statements:
Wrgmen wHHF uge Swr Curgernr updlu GHuLer, KNeaTau@l fdanssamaerd
& G 6l W M1 & 6T

1.Under this scheme, farmers will have to pay a uniform premium of two percent
for any crop they cultivate in any season of the year.
QsH L sHen S, eleusmilser aumLFSen rhsl LMaudSHabd LuNf@EID
apsl LfE@L Qrarh ssaldgw Frrer GFfllwwrss QFqss CeuamT@Lb.
2.This scheme covers post-harvest losses arising out of cyclones and unseasonal

rains.
Qs SHLb Goreefl wHMD LGaLenPWT® FHUOL DI &ES
Khengw Qlilseamer FHCFLSDS.

Which of the statements given above is/are correct?

Cule GsrhssiuulL smpmseaied g sflurarg/sflwunerg?

(A) 1only
1 wLLEW

(B) 2 only
2 L HW

(C) BothIand2
1 wHmw 2

(D) Neither Inor2
T Qoene

(E) Answer not Known
dlenL Qg flwellcrene

42. CONSIDER THE CORRECT PAIRS
1. Duties levied by the Union but collected - 1. (Art.268)
and Appropriated by the states
LSS rere NFHSSLUULED, Y, emme (agrds 268)
wrfleo rs auGalliug, LwearU® S e
2.Taxes Levied and Collected by the union - 2. (Art.269)
but Assigned to the States
bW yrsre alHssLUL0,uEGNNSSULLD (agrdg 268)
LIHOBSEEHEG @R§SHSI W CUGTEISET
(A) 10nly
1 LLEL
(B) 2 Only
2 bl @b
(C) Both1and2
1 wHmw 2
(D) None of the above
CupsearL 6rgle|dldene
(E) Answer not Known
allenL Qg flwellcenc
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43. The Special Economic Zones policy was announced in

Apliy Qumr@ernsry wearL & Caraseans erlGurg Geueflui L L g).
(A) April 2000
gure 2000
(B) July1990
ggoenew 2000
(C) April1980
gure 2001
(D) July1970
sgoemew 2001
(E) Answer not Known
cllenL Q5 flweilcrenc

44. Author of “An Inquiry into the Nature and Causes of Wealth of Nations”
Brpseflen Gseussmau|ld STramrismerLd GNSS @@ elsmyenewr eremm K6l e
< AFlwiy
(A) Alfred Marshall

2}, 0o AT LOTFagiED
(B) Adam Smith
QLD vl
(C) Lionel Robbins
@Qoweirey @ rmeimen
(D) Paul A Samuelson
ure o rpGeaucgen
(E) Answer not Known
cenL Qg flweilcrenc

45. NITI Aayog is formed through----------c-cccceceoo-
HE oCuns EP&saTamID TH POLTE JMESSILILL F)7?
(A) Presidential Ordinance

GlqWwrs senaaiflen Uy oy enemr
(B) Allocation of business rules by President of India
Gl4wrsE semaafler &HnMsemns
(C) Cabinet resolution
SMDFFTMES SFLOTEILD
(D) None of the above
Cuopsear orgaLllcoene
(E) Answer not Known

cenL Qg flweilcrenc
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46. Which of the following countries is not a member of SAARC?

SpsarL prhselle erg smfsd emwlfed 2 mlleayrs Qdoamea?
(A) SriLanka
Qorians
(B) Indonesia
QrCarCerflwm
(C) Bangladesh
LBI& TG 6%
(D) Afghanistan
<2}, L1 M6l 6iv & I 6ot
(E) Answer not Known
cdenL Qs flweilcrenc

47. Which one is a trade policy?.
Spsam_aupne g uisss Csmeareans
(A) irrigation policy

Brunrgenr Qanedrens
(B) import and export policy
Qns@wd wonw gomwd CsTeams
(C) land-reform policy
o FrHmsss Csmeareans
(D) wage policy
Fnclls Qamerens
(E) Answer not Known
denL Qg flwellcvene

48. “ An Indian farmer is born in debt, lives in debt, dies in debt and bequeaths debt”-
who said this?
‘@idw aleusmul sLearmeflwunrs Nphg, sLameflurs aurphg, sLeameaflurs @b,
sLanarCu sH8&@ N (h& Qadlpren” QFQsrHCprLemrs smdlweuy wmry?
(A) Adam Smith
QLD vl
(B) Gandhi
a1
(C) Amartya Sen
SwFSwur CFen
(D) Sir Malcolm Darling
&7 LIO&SWL LTFedlm
(E) Answer not Known

cenL Qgflweilcrenc
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49. Match the following
Qunrms g5
1.20 Point Programme - 1.1975
20 s SHLLb
2.Jawahar Rozgar Yojana(JRY) - 2.1989
nausi Caumeauriliysg b (JRY) -
3.Mahatma Gandhi National Rural - 3.2006
Employment Guarantee Scheme(MGNREGS)
warswr sHs Csfw eapsGeuenaeumuiliL
2 N $HSSL1b(MGNREGS)
4.Pradhan Mantri Adarsh Gram Sadak - 4.2010
Yojana (PMAGSY)
Wrsrenr wHHfl 9 sFeq Srmd &5&
Curgenr (PMAGSY)
(A) 1234
(B) 4321
(C) 3241
(D) 2314
(E) Answer not Known

alenL Qsflweilcrenc

50. The weakness of Indian Economy is
@iHwull Qur@merTHIFL eTHenm SMrawrons euadlenwuferoenwing QmsSng).
(A) Economic disparities
Qumrmernsrys swheneullenoenio
(B) Mixed economy
syl CQum@mertgmyd
(C) Urbanisation
H&TLOWLOTS 60
(D) Adequate employment opportunities
Curgiwrer GCeauenew eumiili&er @ mLILIZ
(E) Answer not Known

adenL Qs flweilcrenc
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51. which one is the largest source of irrigation in Tamil Nadu

52.

53.

ag SWOPHILiger WsUCUAlw urTser < FSTTLIELW

(A) Reservoirs
2|0 6T & & L (h) & 6T
(B) Canals
& 116V 6U G T U1 & 6T
(C) Wells
&) ewr ) & 6it
(D) Tanks
& GBI & 6IT
(E) Answer not Known
adenL Qs flweilcrenc

Who introduced the National Development Council in India?

Cs8lu aueni&dls swasms JMUPsLUUBSSHwaly wry ?

(A) Ambedkar
LrsLy 9. 5.wuCussy
(B) Jawaharlal Nehru
seauanjeord G
(C) Radhakrishanan
Lr&LF Qngndlmes 6wt e
(D) V.K.R.V.Rao
V.K.R.\V @nreu
(E) Answer not Known
denL Qg flwellcrenc

The largest mineral resource of Tamilnadu is
slpssHen WsLCLUAW saflo euerld
(A) Lignite
0l & em GorL_
(B) monazite
CorerrengL
(C) magnesite
LOMT& GO en &L
(D) graphite
ElrmeoenL_
(E) Answer not Known

denL Qg flwellcvenc
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54. Consider the following correct statements

Mereu@d Fflurenr Msemasamerd &eoueflu]n g er

1. Tamil Nadu has the 7 agro climatic zones

sWOPETH 7 Geuerramr sroflenc weamrLmisamerd 6l&mer®H ererg)

2.Tamil Nadu largest producer of paddy in India

ApSHuraliCaoCu slPBETH srenr s Qo 2HusS CQswufpsg

(A) 1only
1 L EGW
(B) 2only
2 wHGw
(C) Both1and2
1 wHmwb 2
(D) None of the above
CuopsearL 6rgle|dlden e
(E) Answer not Known

dlenL Qg flweilcrenc

55. Which of the following is wrongly matched?

SpsasramueDmeT Hauprenr Qenewr 6rF?

(A) Gateway of Tamil Nadu
SWOIPHTL g6 Hlenpeumuile
(B) Home textile city
L@ geyefl swmfliiy
(C) Steel city
GToo® BHSTLD
(D) Pump city
UL BSFLD
(E) Answer not Known

cenL Qg flweilcrenc

Thoothukudi
ENEETICES
Erode

FGrm@H

Salem

Gaed

Coimbatore

CamubL S gy

GS06-060624
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56. MSMEs are important for the nation’s economy because they significantly contribute

to
Brigenr Gummernsrrddled @m, fAm wHmwb BEHSSTS Czmble Hmn e ers serf er
uBisefllil QerMlwenwngene.
(A) industrial production
Qzmplagienn 2Huss
(B) exports
RIIITEEY
(C) employment
GeuemeeumuiLiL]

(D) All the above
Copsadu enerd b
(E) Answer not Known

alenL Q5 Flweilerenc

57. Arrange following plans in correct chronological order
Epssarayd SHLBismer enal (WernGMBwliLLL. | g endigliuamLuld &mea
aflengliug Qs5TE@5g lanLmws C5iHs0s0H &se W0

i. People’s Plan
&S FHLL LD
ii. Bombay Plan
umbuGu S
iii. Jawaharlal Nehru Plan
sausfoorw Gn@m HLLLb
iv. Vishveshwarya Plan
NaGaugaurwwr S b
(8) () Gi) Gid) (iv)
(B) (iv) (iii) (i) (i)
(©) (@) (i) (iv) (i)
(D) (i) (i) (iv) (iii)
(E) Answer not Known

cenL Qg flweilcrenc
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58. Consider the following correctly matched pairs regarding 2011 census

2011 waaser Qgransg samsGas@Uled Neareu@mb Fflursl QuTE@BBSHW & enewrs 6r

1. District with highest sex ratio - kanyakumari
Sds undler Nflgd o 6rer e L LD seneiwn@Loifl
2..District with maximum population - Chennai
Sfs wEser Qerens OQsreawr LraLl LW  CFarener
3.District with lowest Literacy rate - Ariyalur
GmNHS eT(Wsshey GUDHM WwIeIL L LD S flweny
4. District with lowest population density - Nilgiris
GmnHSs WwEseT CFTans LSS Boodifl
Qanewr Wwreul L Ld
(A) Any one
gCsaId @eny)
(B) Any two

gCaaud Grem@
(C) All the pairs are correctly matched

Smas g Qemewser sflwuns Glimmbg e en
(D) All the pairs are incorrectly matched

Smensg Qenemser FHeumrsll CLim b S S e e
(E) Answer not Known

cenL Qg flweilerenc

59. Which of the following canons of taxation was not listed by Adam smith?

QL SS5HTO sapliuLrs yefls euflelifliy oNd erg?

(A) Canon of equality
swgged elg

(B) Canon of certainty
Héswssenoeano ol

(C) Canon of convenience
cugdl oNd

(D) Canon of simplicity
craflenn el

(E) Answer not Known

clenL Qs flweilcrenc
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60. Indiais NOT a member of which of the following World Bank Group.

Keraumd  eThy 28 aumd Gueled @pHwur 2 mnlerrrs Qdoeane.

(A) International Bank for Reconstruction and Development
HergenwoliL wombd Cuburl@ésrer sfeuCss cumid

(B) International Development Association
sfauGss cuerjss smisLD

(C) International Finance Corporation
siauCss HS Hmeuerd

(D) International Centre for Settlement of Investment Disputes
WSSLH sarTpsmerd SFuugnasrear FfuCss enwid

(E) Answer not Known

allenL Qg flwellcvenc

61. Which Tamil Nadu scheme aims at providing basic amenities and infrastructure to
rural habitations to improve the quality of life for rural residents?
apg SOLETHR Sl Srrolyp waseler ampsmss srsams CoLUBSS
Sprolyn GuuUBLUUSEHSEG Sigluenl  euFdlser wWwHMW 2 sl LabliL|seamer
apr@gams Crréswrss OQsmear@erers)?
(A) Anaithu Grama Anna Marumalarchi Thittam (AGAMT)
Smeansg Sgmo jamenn wHLoFES HLb (AGAMT)
(B) Chief Minister’s Solar Powered Green House Scheme (CMSPGHS)
wpaamwisflar Gilw s&Hured Qurigb usamw i@ HLwb (CMSPGHS)
(C) Tamil Nadu Rural Transformation Project (TNRTP)
sWOlpBrH Sorwiyp wropw Hrwb (TNRTP)
(D) Pradhan Mantri Gram Sadak Yojana (PMGSY)
Yrsrenr wHHF Armd & Gurgerr (PMGSY)
(E) Answer not Known

dllenL Qg flwellcvenc
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62. Choose the correct pairs

sflurer Qememenwd Caie CFuis

1. Year of great divide - 1921
Qu@pd Wflelener gy, 6mr@H 1921
2.Year of small divide - 1961
fm Yere] e 1961
3.Year of Population explosion - 1951
w&&HeT CHTens Gloug.Liy e 1951
4.Year of Demographic transition - 2001
w&&HeT CHTens WLIMFHD |, 6w 2001
(A) Anyone
gCaad e
(B) Any two

gCaaid Quanrp
(C) All the Pairs Correctly matched
Smensgid sflursl QurmbS o creren
(D) All the pairs are incorrectly matched
SmanS D Seuprs QUTBHSH 2 creren
(E) Answer not Known

enL Qg flweilcrenc

63. The difference between total expenditure and total receipts including loans and other
liabilities is called
CQwrsssd QFwe], LT Joors QLIGFH aimeunamw ol HHILTE QEHHSSHTD,
g
(A) Fiscal deficit
BALLDDOTESDD
(B) Budget deficit
are] Qe SHLLU LUDDHIEGaD
(C) Primary deficit
(PSETEMOL LIHMTSGenm
(D) Revenue deficit
QUL LHDHTEGenM
(E) Answer not Known
allenL Q5flwellcrenc
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64. Which of the following is a potential consequence of deflation?

Mereuheuameupdled erg Uemreurl L gdlenr srgdlwiwoner elenerey?
(A) Increased consumer spending
95 5f55 msFCaunry CQeoey
(B) Higher interest rates
3Hs aully alSlgmsar
(C) Increased unemployment
9Hs5fsHs Coueneullenenio
(D) Higher inflation expectations
F& uameiss erHFumFLiLser
(E) Answer not Known
alenL. Q5 flwelcenc

65. What does GDP per capita measure
saflpuy Qwrgs o aBTl® 2pusH aamg erellHEms?
(A) Average income of households in the country
Brllged 2 éren @Owumsafler syrefl eumLOTaID
(B) Total GDP divided by the total population of the country
Qwrss GDP priger Quwrgs wsseabsranswnd augssliubhEmns)
(C) Total exports of the country
BTigen Gorss ehpiod
(D) Total investmentin the country
BTigd Cords pseSH
(E) Answer not Known
aenL Qg flwellcvene

66. Where does Tamil Nadu rank in terms of renewable energy installation capacity in
India?
@rdurefler g UNEsEamW Yy nHne Hme SHpealleo sOLBETE by QL SHo
2 GG )
(A) First
eyl
(B) Second
Qe[
(C) Third
epenm)
(D) Fourth
LLEIC)
(E) Answer not Known
dlenL Qzflwelcenc
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67.

68.

69.

Consider the following statements and identify the right ones.

ECp Qarhssuulpereteupmer org Fflwner QFmHODILT eTewd &euwrHLig

1. The finance commission is appointed by the President
samdusure HHsEw uafluwisstiuGsng
2.The tenure of Finance commission is five years
&G wellen smed 5 oy ar{Hser
(A) 1only
1 wLEW
(B) 2 only
2 LB
(C) Both1and2
1 womwb 2
(D) None of the above
Cuopsear orgallcoene
(E) Answer not Known
clenL Q5 flweilcrenc

Which of the following is not under the capital budget
Nemeuheuamaupied erg epagen LLGHL iqen S GQoanq
(A) Taxrevenue
aufl eu(pHeumWl
(B) Non tax revenue
aufl g euHeuml
(C) BothAandB
A wpmw B
(D) None of the above
Copsear orgeulcoene
(E) Answer not Known
alenL Qs flweilcrenc

Which sector contributes the largest share to India’s GDP?
@pdwureiler Quwrss o eaprlh =HusHIL ahss son HHs
UPEIGS g ?
(A) Agriculture and allied activities

clleusmud WHMID L 6T QFTLFLML W [BL 6llg & 6N 6T
(B) Industry

Qe
(C) Services

Ceemneusar
(D) Manufacturing

2 pu5S
(E) Answer not Known

dlenL Qg flwellcvenc

umsefllienu
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70. Which index is commonly used to measure inflation in India?
@idurailey Lamaisssens erell CQurgeursl LweaTLGSSLILGDL SOUGH erg?
(A) Consumer Price Index (CPI)
B&FCauny alemawd GHuI® (CPI)
(B) Producer Price Index (PPI)
2 pusHwurery eleweds @GMui@ (PPI)
(C) Wholesale Price Index (WPI)
Quorgs leamasd @Hui@ (WPI)
(D) All of the above
CuwCeo 2 drer jenend b
(E) Answer not Known
denL Qg flwellcvene

71. Which program focuses on enhancing skill development and promoting employment
opportunities for rural youth?
fperr CGuburlien CowUBSHS® wHML Srrolyp QearEisErsE Coumae
aumilysener sag@ellliugler seuand GCESHD S b erg?
(A) Deen Dayal Upadhyaya Grameen Kaushalya Yojana (DDU-GKY)
Ser gwrer e urdwrun Hyrdler CQsagdwn Curgerr (DDU-GKY)
(B) National Social Assistance Programme (NSAP)
Csélw Feps 25615 SHLib (NSAP)
(C) Sansad Adarsh Gram Yojana (SAGY)
sangd 9 sies Symd Curgerr (SAGY)
(D) National Rural Livelihood Mission (NRLM)
Csflw Armolyp eurpersry Qussn (NRLM)
(E) Answer not Known
clenL Q5 flweilcvenc

72. Which initiative aims at the economic development of rural women by forming them
into self-help groups (SHGs) and providing financial and technical support?
Spmolyn Quearsener &Swe el Gussearns (SHGs) o meunsdl, HH woHmd
QsmflopLlu Y srame alpriGaser pad Jeaufselear Qurmerrsry GubumenL
aps Wearwpwndl Crréswnsds Gsmer b ererg)?

(A) Tamil Nadu Women Development Project (TNWDP)
sWOPETH waelly Cowuri®sd Hrw (TNWDP)

(B) Mahalir Thittam
waefly SLLLb

(C) Swarnajayanti Gram Swarozgar Yojana (SGSY)
veufemrgnwpb s Srmb eveuCrrevsy Curgerr (SGSY)

(D) Tamil Nadu Rural Transformation Project (TNRTP)
sWOlpBrhH Sorwiyp wropw Hirw (TNRTP)

(E) Answer not Known
ddlenL Qg flwellcenc
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73. Which of the following is NOT included in India’s national income?
Mereuheuameupdler org @pbHwneler CsAw cumwrargdeo Cerssiiueloenc?

(A) Wages earned by Indian citizens working abroad

Qauafipriige veflyflyw Q@HHw Gywéser FOUTSHEGWL amSwid
(B) Profits earned by Indian companies in other countries

wHn Breseaflcd QB Hneuertiser FLliguw emruLD
(C) Rent from land owned by Indians abroad

Qeuefipriiged o eter QBIHwisErEEGE Cemhswrer HosHdmbgE ur_ans
(D) Remittances from Indian workers abroad

Qeuafipriiiged 2 drer @HHw Qsrflorerfsafl O HHSH LD eiLiL|sHed
(E) Answer not Known

clenL Q5 flweilcrenc

74. Consider the following correct statements
Mereu@d Fflurenr Msmasamersd &eoueflu s ger
1. Tamil Nadu is the largest producer of wind energy
sWOLETH srHprene Wenr 2 HpusHdHuie WPadLGdlo 2 ererg)
2.Rajasthan is largest producer of solar energy
prgavgnen Gl P hnd 2pusHuicd Wl 2 ererg
(A) Both1and2
1 wpmbd 2 Qrerpd
(B) 1only
1 bLHGCW
(C) 2only
2 bl @b
(D) None of the above
CuopsearL ergle|bdldene
(E) Answer not Known
alenL Qs flwellcrenc

75. During a deflationary period, what happens to the purchasing power of money?
Hemaml L& STasHed, LarsHenr aummb@L F&H&E@ ereren HL&GLW?
(A) Itdecreases

G@néng)
(B) Itremains the same
SIF g CGu 2 drerg)
(C) Itincreases
Qa1 fsfsdpg
(D) It fluctuates unpredictably
Qs saflss Wuwrs geaellhEe gHn Pn&sWLsE Q@M ELWD
(E) Answer not Known
clenL Qs flweilcenc
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76. Three sets of English, Mathematics and Science books containing 336,240, 96 books

respectively have to be stacked in such a way that all the books are stored subject-
wise and the height of each stack is the same. Total number of stacks will be
wpennGu 336, 240, 96 ysssnsmans CErar <y mowb, saflgb wHnL dlellwed
Usgamaeier eperm OCsrelysedr mardg USssmsEphd urL  eurfluns
Cauflasiiupn wHnb aterm Gsfear 2 wgwd @Cr wriflurs QMG
amsliledy HH&ES massiur Ceauar@hh. OHEGsHeler Qs eraramilsms
STEUTS ?

(A) 14

(B) 21

() 22

(D) 48

(E) Answer not Known

adenL Qs flweilcrenc

77. Findthe LCM of 3(a—-1),2 (a-1)2, (a2-1)
8. &. 1. sraws 3@ — 1), 2 (a - 1)2, (@2 — 1)
(A) (a+1)2(a+1)
(B) (a-1)2(a+1)
(C) 6(a-1) (a+1)2
(D) 6 (a-1)2(a+1)
(E) Answer not Known

alenL Q5 flweilcrenc

78. What is the least number of square tiles required to pave the floor of a room 15 m 17

cm long and 9m 2cm broad?
15 m 17cm Serpd O9m 2cm s CsTar_ eapuie STl Hds
GmDHSULE FHT @hsd e GCsemeu?

(A) 840

(B) 841

(C) 820

(D) 814

(E) Answer not Known

denL Qg flwellcenc
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79. What is the least number which when divided by 12, 18, 24 and 30 leaves the same

remainder 5 in each case.
@@ aawemenw 12, 18, 24 wpmbd 30 Y& wEsEGLCUTEH gaGaramdaid WH 5
fenL_&& &8 Gmphy cTameneansd &enr (L.
(a) 722
(B) 730
(C) 825
(D) 725
(E) Answer not Known
cenL Qg flweilcrenc

80. Acando apiece of workin 20 days and B can do it in 30 days. How long will they take
to do the work together?
A @m Cameoemw 20 priseflgnd B 30 priseflgnd Gsuw @pigujbd. jeufser
gapns Caueme CsUsTd Hhs Coumaenwu (PY&s eTeieuare] BT &6 I, GLD?
(A) 10 days
10 priser
(B) 12 days
12 mrlser
(C) 11days
11 prlser
(D) 20 days
20 priser
(E) Answer not Known

denL Qg flwellcrenc

81. HCF and LCM of 55, 75 and ‘X’ are 5 and 5775 respectively. The least value of ‘X’ is
55, 75 womwd X earsefler 15.CQumes 5 wHmb 5.H.wo 5775 eafled x Qe
GmPHsULE LI STeaTs.
(A) 39
(B) 37
(C) 35
(D) 34
(E) Answer not Known

clenL Q5 flweilcrenc
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82. Three numbers are in the ratio 6: 8: 10 and their LCM is 1200. Their HCF is
epem eramsaflen afflgid 6: 8: 10 euCeuamsaflen WBHwr 1200 erefcd ) 6ubleu air s afl 6ir
BQuTeu?
(A) 40
(B) 80
(©) 10
(D) 200
(E) Answer not Known

denL Qg flwellcene

83. X can do a piece of work in 18 days and Y can do it 24 days. How much Y get if they
finish the work and earn Rs. 42,000
X @m Caumoew 18 prisealaw y g 24 priselgd GCsuw  wigub.
Qmaumb GCaihg SuCGameeamw GFuig 42,000 Flgeamd y-&@ SHaLs@b
Qgrens ereucuere]?
(A) Rs. 24,000
(B) Rs. 18,000
(C) Rs. 20,000
(D) Rs. 22,000
(E) Answer not Known
denL Qg flwellcrene

84. Aand B together can complete a work in 15 days. B alone can complete the game work
in 45 days. Then
A wpmid B Qameanbg @m Cameemw 15 priselled wpysds wpiyujw. B wl @b 45
Brisafled BHs Ceauemawenw (Piy&s (WiguW|b erefled
(A) Aistwice ag good workman as B
B -eow &l A @@ wLAIEG Bo Couamasanyy
(B) Bistwice as good workman as A
A-emw el B @@ wLm@ poe Caumasstyy
(C) Aisthrice as good workman as B
A -enw ol B eperrmy wLmE@ poe GCaumesstry
(D) Bisthrice ag good workman ag A
B-enw &l A epermy wLmE Bow Couamassmyy
(E) Answer not Known

allenL Qg flwellcvenc
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85. Ramar can do a workin 15 days. Rahim is 50% more efficient than Ramar. The number

of days, Rahim will take to do the same piece of work is

i @@ Cameew 15 priseld Qsugiel@eri. gabbd prenw &l 50%
SHpemvwraraf. Cs Caumamwué CQFuw Fadb aHEGL Brisefer oremmemniseans
(A) 12/2

(B) 12

(©) 10

(D) 14

(E) Answer not Known

cdenL Qs flweilcrenc

86. The product of the LCM and HCF of two numbers is 24. The difference of the two

numbers is 2. Find the numbers?
Qran® eramsefier LCM wombd HCF Qe Qu@pssouwmer 24. ps Qrear®
cramsafien elsHwngd 2. cansmenrd seawrLpa ?

(A) 8andé6

(B) 8and10

(C) 2and 4

(D) 6and 4

(E) Answer not Known

cenL Qg flweilerenc

87. Three men A, B and C can complete a job in 8, 12 and 16 days respectively. A and B
work together for 3 days then B leaves and C joins. In how many days can A and C
finish the work?
epenm awser A, B wpmib C wpenpCu 8, 12 wpmid 16 prisefled @m Caumeenw
Wig&s Wwigwb. A wpmbd B 3 prisear g@eamrs Caueme Gsug bng B aledl C
Qeaendlpry. A wpmbd C Caumaenw adsmen Brisgefle WPi4&ES (WPiguwb?

(A) 1
(B) 2
(C) 4
(D) 5
(E) Answer not Known

alenL Qs flweilcrenc
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88. What is the smallest number which leaves remainder 3 when divided by any of the

numbers 5, 6 or 8 but leaves no remainder when it is divided by 9?

5 6 g 8 Ydu aarseamd wGsGWL Curgy 3 g B s CETHEGWL
e Iy d augsew Curg BH Qoermwed a@uEb Afw erear erg?

(A) 123

(B) 603

(C) 723

(D) 363

(E) Answer not Known

denL Qg flwellcdene

89. The sum of two numbers is 45. Their difference is 1/9 of their sum. Their L.C.M is
Qm eanseilenr s (5CsTns 45 el eramsaflen Coumurh  eummler
gl hd Qzrensuier 1/5 LLAESTGWL erafle el eaansaflenr Wsfm L
(A) 100
(B) 150
(C) 200
(D) 250
(E) Answer not Known

alenL Q5 flweilcrenc

90. An employer pays Rs. 20 for each day a worker work and forfeits Rs. 3 for each day
he is idle. At the end of 60 days, a worker gets Rs. 280. For how many days did the
worker remain idle?
@m wsordl @wm uamilwurery Ceaueme QWb prisefle Bprar gearmng .20
suerd CQsTH&SDTT. Seuen Cauened Gewiwrg priseflcd em.3 uPepssd CELISDTF.
60 priser wigelled meud ¢.280 QumEpry erafler , erggemen Brlser Lienflumery
Cauemne QFuiweildvenc ?

(a) 30

(B) 39

(C) 35

(D) 40

(E) Answer not Known

denL Qg flwellcdenc
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91. If x : y be the ratio of two whole numbers and z be their HCF, then the LCM of those
two numbers is

X 1y ererug Qrueawh W eransafen elflgwrsean z eremug Heumdlenr HCF
A FD QMmHETD, Hs Qream® eearsefler LCM?

(a) yz

(B) xz/y

(C) xy/z

(D) xyz

(E) Answer not Known

denL Qg flwellcdene

92. Aalone can complete a piece of work of Rs. 800 in 8 days; but by engaging an assistant,

the work is completed in 5 days. Find the share to be received by the assistant
A eremueuy WL@BW ¢5.800-@ Couemaenw 8 prisefled wWliuny. BHs Ceaumaenw
@@ 2gelwrareny emeusg Oasrar®h S5 Brisefled (WPiydsmred e wsrelwrerfler LkE

& T 60T &
(A) 500
(B) 800
(C) 300
(D) 600
(E) Answer not Known

denL Qg flwellcrene

93. Ashraf canreap afield in 9 days, which Govind alone can reap in 12 days. In how many

days both together, can reap this field?
Carallhs wLEW 12 prisefie e Qsuuwb awene Heaxurl 9 Brisefled
Smaen. Qawugecl@euny. @umeumd Coipg assamen Briseled Qg euwame
SmeiemL. CFiwemd?
(A) 36/7 days
36/7 mrLser
(B) 29/7 days
29/7 mrlger
(C) 43/7 days
43/7 prisen
(D) 36/8 days
36/8 mrLsar
(E) Answer not Known

denL Qg flwellcrene
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94. Aistwice as good a workman as B and together they finish a piece of work in 14 days.
In how many days can A alone finish the work?

A, B-g &L @reaw® wLmE pow Gauame GFuuei wHm eeanprs Csibg @
Cauemawenw 14 prisefled Qg ylurjsear. A wLOWL eassmer Brisafled
Coumaenw (Pig&& (Plgubd?
(A) 11
(B) 28
(C) 21
(D) 42
(E) Answer not Known
denL Qg flwellcdene

95. A can finish ajob in 20 days and B can complete it in 30 days. They work together and
finish the job. If Rs. 600 is paid as wages, then the share of Aand B
A @m Caumaamw 20 priseled wyss wruw, B gy 30 priseled wgés
Wb, Jeufser geamrs Gauame CFlg Coamemenw (Pi4sEDTTHET. Trmme .
600 ewfHluwns ecupmsLLGSng, KWerery A wHmWb B @er LkiE
(A) 240,360
(B) 360,240
(C) 300,300
(D) 400,200
(E) Answer not Known
denL Qg flwellcvene

96. Eight men and twelve boys can finish a piece of work in 10 days while six men and
eight boys can finish the same work in 14 days. Find the number of days taken by one
man alone to complete the work and also one boy alone to complete the work
TLh awser wHM Uenalizar® fHneuised @m Camaeaw 10 prisefle g &s
P, Pm yPearser wHnw alB fpeujsedar HCs Camewew 14 prisefled
W358 WPiguwd. @ weaflgen LWL HW Caumamenw (Piyé&s aTOSgS0sTarL BT s eflen
camafiGamsamwud @@ Sneem WLLHWL Camoamwu Wiéds THS5SH ST
BT Safl6r 6reurentléenSenwiL|Ld &Tewrs.

(A) Man - 280 days, boy - 140 days

Man - 280 mrmiser, Boy - 140 priser
(B) Man - 150 days, boy - 300 days

Man - 150 mriger, Boy - 300 mriser
(C) Man - 200 days, boy - 140 days

Man - 200 pmiser, Boy - 140 priser
(D) Man - 140 days, boy - 280 days

Man - 140 pmiser, Boy - 280 mriser
(E) Answer not Known

denL Qg flwellcrene
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97. Typing speed of Mr. Smith is 100 words per minute and that of Mrs. Smith is 80 words

per minute. They got an offer of typing a book of 1000 pages. Mr. Smith decided to
type 600 pages and asked Mrs. Smith to type the rest. If each page of book consists of
100 words, then the time taken by both working together to type the book is:

BlevL§ evbldHen sLL&& Ceusd HOLFHDE 100 aunfsemssear wHmb Hmwd
awllgdlen UL && Ceausw HOLSHDE 80 eaunfsemgsdr. 1000 ussmiser Csmeur
H5585m8 SLLES Qb earily SeiseErsd HoLssg. SHm. evdls 600
LSsBRIGMmTS HLLFS Qelw e Qaug, Bfeow slL&s Qauwybuyg Hmod
G  smderny. USsEsHlenr @eaubeurm ussww 100  Qerphaamens
QareamiymbsTD, Ussssmssd L && Qi Qmeaumbd Csibg ah&@b Crrb:
(A) 900 minutes

(B) 1000 minutes

(C) 1200 minutes

(D) 1100 minutes

(E) Answer not Known

dlenL Qg flwellcvenc

98. A can do a piece of work in 10 days. B can do it in 15 days. How much does each of
them get if they finish the work and earn Rs. 1,500?
A @m Cameenw 10 prisefled Gsugiedl wyww. B s 15 prisefled
Qeiwemd. Cauamaenw WigsHel B Qe Csing 1500 milgermed @ @meuiflen
UBI@ STers?
(A) Rs. 700, Rs. 800
(B) Rs. 900, Rs. 600
(C) Rs.500,Rs.1,000
(D) Rs.800,Rs. 700
(E) Answer not Known

dlenL Qg flwellcenc
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99. Three men,four women and six children can complete a work in seven days. A woman
does double the work a man does and child does half the work a man do. How many
women can complete the work in 7 days?

QPETM Y ETEHET, BMe@ OUemsHer HMD HYm GLHMssear @@ Coaumeoenw w
Brlsefler Wwu&s Wb, @m Cuar @@m Y amear Cured @@ wLLEEG GCeume
Qewdlprer , @m yar Cewwd Caumomwu Guhens urd Csudng. 7 Brisgafld
aHgsemen Guemsermed GCoaimaenw (Pig&s (Pplgub?

A) 7

(B) 12

(c) 8

(D) 9

(E) Answer not Known

dlenL Qg flwellcene

100. A can do a piece of work in 7 days of 9 hours each and B can do it in 6 days of 7 hours
each. How long will they take to do it, working together 42/5 hours a day?
A @m Caumeew 7 prisele gor 9 wefl CrrsHaiw, B 6 priselle 7 wenf
Crrsdaud Qeww  @pryujbd. Qmeumd Cofngl @@ braadsE 42/5 waflCprwd
gaprs Gaume CFusTd , Hs Caumaenw GCFUIW ereuaieme BILsear OS5 S
QsTeTEUNT&6T?
(A) 41days
41 prlser
(B) 3 days
3 Briser
(c) 5days
O BIL&eiT
(D) 9/2 days
92 mriser
(E) Answer not Known

cenL Qg flweilcrenc
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SPACE FOR ROUGH WORK
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